
 

  



Using a Triangle to Find the 6 Trig Functions 
Practice Problems Answers 

1) sin(θ) = 
ଷ

ହ
 csc(θ)=	

ହ

ଷ
 

 

cos(θ)= 
ସ

ହ
 sec(θ)=	

ହ

ସ
 

 

tan(θ)=	
ଷ

ସ
 cot(θ)=	

ସ

ଷ
  

 
 

2) sin(θ) =
ଷ

ହ
 csc(θ)=	

ହ

ଷ
 

 

cos(θ)=	
ସ

ହ
 sec(θ)=	

ହ

ସ
 

 

tan(θ)=	
ଷ

ସ
 cot(θ)=	

ସ

ଷ
 

 
 

3) sin(θ) =
ସ

ହ
 csc(θ)=	

ହ

ସ
 

 

cos(θ)=	
ଷ

ହ
 sec(θ)=	

ହ

ଷ
 

 

tan(θ)=	
ସ

ଷ
 cot(θ)=	

ଷ

ସ
 

 
 

4) sin(θ) =
ଵହ

ଵ଻
 csc(θ)=	

ଵ଻

ଵହ
 

 

cos(θ)=	
଼

ଵ଻
 sec(θ)=	

ଵ଻

଼
 

 

tan(θ)=	
ଵହ

଼
 cot(θ)=	

଼

ଵହ
 

 
 

5) sin(θ) =
ଶସ

ଶହ
 csc(θ)=	

ଶହ

ଶସ
 

 

cos(θ)=	
଻

ଶହ
 sec(θ)=	

ଶହ

଻
 

 

tan(θ)=	
ଶସ

଻
 cot(θ)=	

଻

ଶସ
 

 
 
 
 
 

 
 

6) sin(θ) =
ଵହ

ଵ଻
 csc(θ)=	

ଵ଻

ଵହ
 

 

cos(θ)=	
଼

ଵ଻
 sec(θ)=	

ଵ଻

଼
 

 

tan(θ)=	
ଵହ

଼
 cot(θ)=	

଼

ଵହ
 

 
 
 
 

7) sin(θ) =√
ସ଼

ଵଷ
 csc(θ)=	

ଵଷ√ସ଼

ସ଼
 

 

cos(θ)=	
ଵଵ

ଵଷ
 sec(θ)=	

ଵଷ

ଵଵ
 

 

tan(θ)=	√
ସ଼

ଵଵ
 cot(θ)=	

ଵଵ√ସ଼

ସ଼
 

 
 

8) sin(θ) =	
ସ

ହ
 csc(θ)=	

ହ

ସ
 

 

cos(θ)=	
ଷ

ହ
 sec(θ)=	

ହ

ଷ
 

 

tan(θ)=	
ସ

ଷ
 cot(θ)=	

ଷ

ସ
 

 
 

9) sin(θ) =	
ଶସ

ଶହ
 csc(θ)=	

ଶହ

ଶସ
 

 

cos(θ)=	
଻

ଶହ
 sec(θ)=	

ଶହ

଻
 

 

tan(θ)=	
ଶସ

଻
 cot(θ)=	

଻

ଶସ
 

 
 

10) sin(θ) =	
ଵଶ

ଵଷ
 csc(θ)=	

ଵଷ

ଵଶ
 

 

cos(θ)=	
ହ

ଵଷ
 sec(θ)=	

ଵଷ

ହ
 

 

tan(θ)=	
ଵଶ

ହ
 cot(θ)=	

ହ

ଵଶ
 

  



 


